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QUESTION 1

What are two reasons why a vCenter UI can show a Noncompliant status for a VM storage object? (Choose two.) 

A. The object is no longer fully compliant with the associated storage policy. 

B. A storage hardware failure has caused permanent data loss for the object. 

C. The VM storage compliance alarm has been triggered for that object. 

D. The object is not associated with a guest VM. 

E. The object is not associated with a storage policy. 

Correct Answer: AE 

 

QUESTION 2

What is the maximum number of failures an object can tolerate with RAID-6? 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: A 

Reference: https://vsan-essentials.gitbooks.io/vsan-6-2/content/chapter6.html 

 

QUESTION 3

When attempting to add a directly attached disk device to a host disk group, the intended disk does not show among the
available devices in disk management. 

Which action can be used to make the device available? 

A. delete all device partitions 

B. format the existing partition 

C. create a 1GB metadata partition 

D. create a VMFS partition 

Correct Answer: D 
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QUESTION 4

The objects on a 4-node vSAN cluster are assigned a RAID-5 policy. A network outage occurs causing 

host one to lose connectivity with the rest of the cluster. Seventy-five minutes elapse. 

What is the health state of the objects? 

A. Reduced availability with no rebuild 

B. Reduced availability with no rebuild ?delay timer 

C. Non-availability related incompliance [non-compliance] 

D. Reduced availability 

Correct Answer: D 

 

QUESTION 5

What would cause a vSAN: Basic (unicast) connectivity check failure in vSAN Health Check? 

A. One or more hosts in the cluster are unable to ping the vSAN VMkernel adapters of other hosts in the cluster. 

B. The throughput of the physical network supporting vSAN traffic is less than the recommended minimum throughput. 

C. The vSAN VMkernel adapter is shared with another service such as vMotion. 

D. vSAN is configured to use multicast to transmit data. 

Correct Answer: A 

Reference: https://communities.vmware.com/thread/576629 
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